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Mean

3.87, 6.99, 7.25, 7.25, 7.99, 8.25, 8.45, 8.75

Median

Mode

3.87, 6.99, 7.25, 7.25, 7.99, 8.25, 8.45, 8.75

7.25





An outlier is a data value that is much greater or much less than the other values.



In Example 1, each hourly wage increases by $0.50.  How does this increase 

affect the mean, median and mode?

Make a new table by adding $0.50 to each hourly wage.

Students’ Hourly Wages

$4.37

$9.25

$8.75

$7.49

$7.75

$8.95

$7.75

$8.49

Mean: 
𝟔𝟐.𝟖

𝟖
= $𝟕. 𝟖𝟓

Median: 𝟒. 𝟑𝟕, 𝟕. 𝟒𝟗, 𝟕. 𝟕𝟓, 𝟕. 𝟕𝟓, 𝟖. 𝟒𝟗, 𝟖. 𝟕𝟓, 𝟖. 𝟗𝟓, 𝟗. 𝟐𝟓

16.24

2
= $8.12

Mode: $𝟕. 𝟕𝟓

When each hourly wage increases by $0.50, the mean, median, and mode 

all increase by $0.50.



EXAMPLE 4 Finding a Missing Value

32 + 𝑥

6
= 6

32 + 𝑥 = 36

𝑥 = 4

12 + 𝑥

2
= 14

12 + 𝑥 = 28

𝑥 = 16


